log (R_ext)

gos velocity [km/s]

J [mag] K [mag]

V [magq]

5000 5.83 3.00 7 1.0

condensation degree

Sl L L R L B B 4.0[ 10 L
i ‘ ‘ : ] i ]
Vi F E L ]
oL 351 1 I |
BT 0 OO DD 1 [ ] 8 B
: 1 30F - | |
o B [ ]
° i 250 ] L ]
= ] T [ ] -
« S 1 5 f I 7
z 1 2.0 ] b ]
= i [ ] L ]
0r N [ ) L ]
1 151 .
J [ ] 4r b
151 ; : ] [ |
] 10p b L
0| I P R R S PR RS A osFPu v v v v e 2 P B S R S R
00 02 04 06 08 10 05 1.0 1.5 2.0 2.5 3.0 5 10 15 20 25
phase ¢y H-K V—K
150 ‘ ‘ ‘ ‘ ‘ ‘
145F—
(O] T
BsI—
13.0C ‘ ‘ ‘ ‘ ‘ ‘
40 ‘ ‘ ‘ ‘ ‘ ‘ -
20— —
o—
—20— —
—40C ‘ ‘ ‘ ‘ ‘ ‘ ]
1.0 ‘ ‘ ‘ ‘ ‘ ‘ -
08— —
0.6 — —
04— —
02— —
0otz ‘ ‘ ‘ ‘ ‘ .
0 200 400 600 800 1000 1200
time [yr]
T T T T T T T E| 3,0)(10‘317 T T T T T T 3
; 13: B
! 5‘10'34 E 2.5%x10 = E|
u zvoxwo”; E Teﬁ 3000 K
15 15x10°E 1 gL 3.85 Lg
E : 1 Mass 1.50 Mg
] 1.0x107 -
R i lg(C-0) 8.50
e e 1 C/0 1.69
; T T T T T T E 6:‘7 T T T T T T g AUP 2 km/S
90.36 k F 4 8 T ) Py : E
1 E v f ] fL 1.0
= E| T o2r
! ERN A class pp
ERE
o 3 8 —2F i
g R S 3 No wind
E -6 : =
] ) S SN Lo i 3 period 390.d = 1.068 yr
—————————— 10F : : : : : 3 Radius 318 R,
S E [ 1 logg —-0.39
o E t ]
P 38'13 ER 4 M, 0.228
L E - ]
o E © o6 b
‘ E s I 1 Colour mean / min / max / range
El Kl t g B-V) 2.02 2.01 2.03 0.02
3 s 04 1 (v-1) 2.36 2.32 2.39 0.07
B E 2 F R V—K 532 5.26 5.36 0.10
. E 8 0ok ] J—H 0.94 093 0.95 0.01
E “r B J—K 1.46 1.45 1.47 0.02
" ' ' El [ ] H-K) 0.52 0.51 0.53 0.02
: L@ p o E 0.0 ir- mmapmmsne—r - : - : oy
1244 1267 1270 1240 1245 1250 1255 1260 1265 1270

time [yr] time [yr]



(K]

Toos

gas velocity [km/s]

log density [g/cm?]

Note: Time increases downwards.
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